www.inteva.es / 55

SCREW COUPLINGS ¢ ¢ WG




DNV-GL

MANAGEMENT SYSTEM
CERTIFICATE

Numero de certificado:/Certificate No.: Fecha Inicial de Certificacién:/Initial date: Validez:/Valid:
282929-2019-AQ-IBE-ENAC 22 febrero 2016 19 febrero 2019 - 19 febrero 2022

Se certifica que el sistema de gestion de/This is to certify that the management system of

INDUSTRIAS TECNICAS DE
VALVULERIA,SA

C/ Bergueda,14-16 (Esq.Emporda), Pol. Ind. Can Bernardes - Subira, 08130, Santa
Perpetua de Mogoda, Barcelona, Spain

es conforme a la Norma del Sistema de Gestion de Calidad/
has been found to conform to the Quality Management System standard:

ISO 9001:2015

Este certificado es valido This certificate is valid

para el siguiente campo de aplicacion: for the following scope:

Diseiio, fabricacion y comercializacion de Design, manufacture and sales of quick
acoples rapidos, valvulas antirretorno y couplings, check valves and ball valves.

valvulas de cierre esférico.

Lugar y fecha/Place and date: Oficina de emision/
Barcelona, 19 febrero 2019 For the Certification Body
DNV GL - Business Assurance

Gran Via de les Corts Catalanes, 130-

E 136, PI. 9 08038 Barcelona, Spain

CERTIFICACION ol g
C 05 = —

N°03/7C-S8
Ana del Rio Salgado
Representante de la direccién/
Management Representative

I
0

El incumplimiento de las condiciones establecidas en el Contrato puede dar lugar a la cancelacion del certificado/

Lack of fulfilment of conditions as set out in the Certification Agreement may render this Certificate invalid.

DNV GL BUSINESS ASSURANCE ESPANA, SLU, Gran Via de les Corts Catalanes, 130-136, Pl. 9 08038 Barcelona, Spain. TEL:+34 93 479 26 00.
www.dnvgl.es/assurance



0§ | - U TSR SRK Series w m

207 onrsois N SR
23 | ssnssssssssonsimencassssasmmnssiaasmssasans VPR Series Emm

122 rssinmsimmaminnsiin s sk AGR Series @ m

SONITdNOD MJLDS




DIRECTIONS FOR USE

CPR Flat Face m

WARNINGS!

@ Avoid contaminating the system. In this way, we avoid
the waste inclusion that can damage the sealing elements.
Contaminating the hydraulic fluid that leads to leakages
and malfunctions.

N

N

A Dirt is the main cause of a malfunction on

this part of the coupling. %
| =

NN

@ Recommendations...

. . . ’_r.-—"—ﬁ—-.'_
@ Before installing, clean-up the hoses and pipes.

@ Before connecting: clean-up carefully the flat / %
faces either on male and female coupling.

@ While disconnecting: never leave the couplings I ] v
on the ground, use our dust caps/plugs to protect
from contaminating and external damages.

© Do not damage the flat side of the male coupling,
Zone 1. This can lead to damages on internal sealing /

components of the female half while connecting both
parts. T

& Do not overload the coupling. Fix the hoses by flexible
suppor’cs.’é

& Avoid rotations between both couplings male and
female.

O While connected it is difficult to detect
// leakages!

Do never use a SCREWDRIVER for moving the flat
valves back, forcing the opening of these and
relieve the residual pressure trapped in the circuit,
running the risk to damage the seals by sliding on
the smooth surface on the flat front.

V160421

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8



DIRECTIONS FOR USE

CPR Flat Face

WARNINGS!
@ Avoid contaminating the system. In this way, we avoid ]
the waste inclusion that can damage the sealing elements.
Contaminating the hydraulic fluid that leads to leakages

and malfunctions. %5_—. f 4
AR5

A Dirt is the main cause of a malfunction on this
part of the coupling.

-

@ Recommendations...

@ Before installing, clean-up the hoses and pipes.

@ Before connecting: clean-up carefully the flat

faces either on male and female coupling. Decompression...

@ While disconnecting: never leave the couplings
on the ground, use our dust caps/plugs to protect

o If female coupling is pressurized and pressure
from contaminating and external damages.

cannot be relieved by a control unit, the
decompression of the female coupling is not
possible.

V160421

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8




122 SERIES
AGR 055

Designed to connect hydraulic systems of tractor and trailer.
BSP, DIN3852, SAE/ORB thread, other available upon request

» Materials » Working temperature (O-ring)

Carbon Steel EN 10277-3
O-ring: NBR, Viton or EPDM
Balls: AISI 316W 14401
Springs: Carbon Steel DIN

17233/84(B) -30°C -10°C -40°C

* Applications: Designed to connect hydraulic systems of a
tractor and a trailer. Designed for Oil hydraulic.

* Equivalence
GROMELLE K-8000

MODEL STRUCTURE
Example:

122.11113 NE

//\

e e

122. 1> Carbon St 1 > Male 1> PoppetV. 1> NBR DN 2 etters (see

2 > Female 2 - Viton 351 | 13 Table of Threads
3 > EPDM page 999-1)

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty.




122 SERIES
AGR 25

\

| SPECIAL OPTIONS: 1
| Male with plastic cap |
| 120.5433AC included, |
| add to base code 010. |

1

CHENC L e (Min. quantity: 250units)

'M18x1,5 ! 12L | 24 ! : 1 122.11113JE !

1 1 1
1 1 1
¥ t 1 ¥ 1 1 1 1 Pl
131 M20x1,5 | @13,5| 36 i 7 i50,50i 36 i 23 i 1122.11113KFA| 250Bar
i M22x1,5 1 15L | i i i i i 1 122.11113JG |

« The nut is included in the Bulkhead version

1
v BSP M 122.11113A0 250Bar

72" BSP H 36

30

(&)1
4;
.__z__
w
o
N
*

122.11113AD i 250Bar

FEMALE

24 41 58,50 122.12113NE : 250Bar

*

1
1

131 M18x1,5
1

* The METAL PARKING is included in all female parts.

FEMALE

5 KBSPM
| Without 60° cone

i 24 41 42,50 122.12113A0A | 250Bar

* The METAL PARKING is included in all female parts.

122-2 -

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8



122 SERIES

G R DIN 2353
SAE/ORB

\

SPECIAL OPTIONS:

|
|
MALE | Male with plastic cap |
| 120.5433AC included, |
I add to base code 010. |
L (Min. quantity: 250units) |
1 3/4“16UNFM i i [V N e i
1 1 1 1 1 1 1
13 ! Without 37° cone | 36 i 47 i M36x2 i i 122.11113HFA : 250Bar
MALE

3/4 “-“16UNF M

Prolonged 36

122.11113GFA | 250Bar

3

89,50 | M36x2
1

@T CH1 CH2 C oA

13 §M16x1,5§ M20x1,5 36 27 §53,50§ M36x2§ * §122.11113JDA§2503ar

« The nut is included in the Bulkhead version

1 M22x1,5

36
i Prolonged

0L
1

2
-g-
@
(o)
N
*

122.11113JGA i 250Bar
1

* The nut is included in the Bulkhead version

MALE

DN oA2 @T CHICH2 C @A L REF. &)

M16x1,5 i

1 1 1 1 1 1 1
1361071771 N i
Sl Bulkhead:10L: 36 ] 27 ] 7 i M36x2 P 122.11113LGA : 250Bar

1
1
13
1

* The nut is included in the Bulkhead version

122-3 -

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8



122 SERIES

AG R CAPS

AGR SERIES CAPS have been designed to protect FEMALE parts during disconnection.

MODEL STRUCTURE Example:

For caps and parking parts 122.5433 AA

NN

122. 1> Carbon ST 4 > Cap 0 ->Plain Metal DN AA
5 > Plastic 5 > Parking ; Zgﬁi 35y | 13
3 >Yellow
4 >Green
5 >Black
6 >White
H[;Ef 13 122.5433AA M36x2 30

Standard in yellow

DN REF. L oA
DA

‘ 13 122.5533AA 17 29,80

1224 -

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8




201 SERIES
VCR

Designed for elevation systems on trucks.
Reduced drop pressure.
Poppet Valve closing system.

» Materials » Working temperature (O-ring)
Carbon Steel EN10277-3

O-ring: NBR, Viton or EPDM

Springs: Carbon Steel DIN 17233/84(B)

* Applications: Designed for Qil hydraulic Applications
Hammer Application

* Equivalence: FASTER CVE
EDBRO

MODEL STRUCTURE
Example:

201.11114 AE

s R KN K0

201. 1> Carbon St. 1> Male 1> PoppetV 0 > Without DN 2 letter as per
2 > Female 1-> NBR 453 |20 Table of threads
2 - Viton

3>EPDM 5> 1" [25

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8




201 SERIES

VCR

o MALE

DN QA1 @A2 CH1 C

20 %"BSP 11> 46 78 44

138 201.11114AE

350 Bar

25 1"BSP BSP 55 83 53,60

148 201.11115AF

300 Bar

MALE

20 1"BSP 46 68 44

118,50 201.11114AQ

350 Bar

] FEMALE

20 1"BSP__ 33 41,50 74 115

20 %" BSP 41,50 33 78 115 138 201.12114AE 350 Bar
[:=]
& 25 1”BSP 51 40 83 115 148 201.12115AF 300 Bar
bD
i = ‘ FEMALE

118,50 201.12114AQ

350 Bar

E/C

INTEVA reserves the right to make modifications in its products without prior notice.
Any external or internal alteration in our products will automatically void the warranty.

-
INTEVA



201 SERIES

TECHNICAL DATA
DN Rated Flow Min Burst Pressure (bar) Max. Working Pressure

Male Female Coupled
20 120 I/m 1100 1300 1325 350 bar
25 160 I/m 1200 900 1325 300 bar

Test performed according to ISO 18869

Ap (bar)
2,9

0 40 80 120 160 200 240 I/m

201-3 | -

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8




201 SERIES

VCR &t
CAPS

MODEL STRUCTURE
For plugs/caps and parking parts Example:

201.6304 AA

AN

201 1 - Carbon ST 3 - Plug 0 > Plain Metal DN AA
6 2> Aluminium 4 - Cap > am
5 > Parking 4>20 %
5225 17

= T

201.6304AA 50

25 201.6305AA 60 191 25 42

201.6404AA

25 201.6405AA 60 191 18 52

7 201.1504AA

= | 25 201.1505AA 55 25
— [

2014 -

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty.



202 SERIES
HPA

Manufactured according to the standard ISO 14540.
Designed for cylinders, hand pumps and similar high hydraulic applications.
Ball or Poppet valve closing system available.
NPTF Threads. Other threads upon request.

» Materials » Working temperature (O-ring)

CARBON STEEL STAINLESS
STEEL

Carbon Steel

B AISI 316L
ody EN-10277-3
O-ring NBR,Viton or NBR,Viton or
EPDM EPDM
Balls AlSI 1010/1015 | AISI1010/1015
Springs Carbon Steel AISI302 DIN
DIN 17233/84(B) 17224

* Applications: Designed for Oil hydraulic Applications

* Equivalence:
ENERPAC C-604
CEJN 230
PARKER 3000

MODEL STRUCTURE
Example:

202. 12242 BN

M

202. 1 - Carbon St. 1> Male 1-> PoppetV 0 > Without DN 2 letters as per
2 > AISI 316 2 - Female 2 - Ball 2 - Viton 1>6.3 %  Table of threads
4 > NBR 90Sh
2510 %

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8




202 SERIES
HPA

BALL VALVE

MALE STANDARD MODELS

DN @A  REF. CH1 @G L1
1147
Nev . 202.11201B8

63 4 700Bar 27 1”UN 34
\pye 2022120188

FEMALE STANDARD MODELS

OF L DN @A REF. ] CcH2 L2 @p L
147
NPTE @ 202:12241BM
1590 785 63 700Bar 19 63.5 29.8 785
NPT g, 202:22221BM

MALE STANDARD MODELS

DN @A REF. Ce] CH1 @G L1
3/8”
NpTF 202.11202BC 1
10 e 700Bar 30 3/16” 39
UN
npyE 202:21202BC

L= lenght while quick coupling is connected.

INTEVA reserves the right to make modifications in its products without prior notice.
Any external or internal alteration in our products will automatically void the warranty.

FEMALE STANDARD MODELS

OF L DN OA REF. @ CH2 L2 oD L
3/8”
NPTE M.202'1224ZBN
19 87.27 10 3/ 700Bar 24 72,5 345 87.27
NPTE M.202'22222BN

-
INTEVA



202 SERIES
H P A POPPE VFVE

DA

CH1
MALE STANDARD MODELS FEMALE STANDARD MODELS
DN ©A REF. @ CH1 @G L1 OF L DN GA REF. @ CH2 L2 oD L
1/4” 1/14”
NPTE 202.11141BB NPTE M.202'12141BM
6.3 s 1200Bar 27 1”UN 41 15.90 92.40 6.3 187 1200Bar 23.8 704 29.8 92.40
NPTE 202.21121BB NPTE M.202'22121BM

CH1
MALE STANDARD MODELS FEMALE STANDARD MODELS
DN OA REF. @ CH1 @G L1 OF L DN GA REF. & CH2 L2 2D L

3/8” 3/8”

NPTF 202.11142BC 1 NPTF M.202'12142BN

3/ 1200Bar 30 3/16” 425 19 975 10 3/g" 1200Bar 24 79.2 345 97.5

UN
NPTF 202.21122BC NPTF M.2°2'221223N

L= lenght while quick coupling is connected.

202-3 -

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8



202 SERIES
HPA . it

N

HPA SERIES PLUGS and CAPS have been designed to protect FEMALE (coupler) or MALE
(nipple) parts while they are disconnected.

T
i

MODEL STRUCTURE Example:

202.6302 AA

202. 5 > Plastic 3- Plug 0 - Plain Metal DN AA
6 > Aluminium 4-> Cap 5 -2 Black 1> % | os
2> % |10
_|C_ METAL PLUG

lotetetstotetototototetotototed ALUMINUM AISI 316

6.3 202.6301AA 202.2301AA 15,85 24
§ 10 202.6302AA 202.2302AA 19 28

PLASTIC PLUG

PLASTIC

6.3 202.5351AA 15,7 24
e 10 202.5352AA 19 28

. METAL CAP
ALUMINUM AISI 316

6.3 202.6401AA 202.2401AA 29 28

10 202.6402AA 202.2402AA 34 34

PLASTIC CAP

PLASTIC
6.3 202.5451AA 29 25
10 202.5452AA 34 34

[5193

2024 -

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8



202 SERIES

HPA

TECHNICAL DATA BALLVALVE cCarbon Steel and Stainless Steel AISI316

Rated Flow Min Burst Pressure (bar) Max. Working Pressure Spillage
Male Female Coupled Max.
6.3 51/m 1500 2000 2200 700 Bar 0.2
10 9 1/m 1500 2000 2200 700 Bar 0.6
Test performed according to ISO 18869
Ap (bar)
9

6.3

10

0 5 10 15 20 25 30 35  |/m

o =2 N W B2 O OO N @

TECHNICAL DATA  POPPETVALVE Carbon Steel and Stainless Steel AISI316

Rated Flow Min Burst Pressure (bar) Max. Working Pressure Spillage
Male Female Coupled Max.
6.3 51/m 1500 2400 2400 1200 Bar 0.5
10 91/m 1500 2400 2800 1200 Bar 1.5
Ap (bar) Test performed according to ISO 18869

N W e 0000 N o WO

0 5 10 15 20 25 30 35 I/m

202-5 | | —

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8




203 SERIES
TGW CARBON STEEL/AISI 316

Designed for high pressure applicaitons.
Poppet Valve closing system.
BSP, NPTF threads and other upon request.

» Materials » Working temperature (O-ring)
Carbon Steel EN -10277-3, AISI 316 and AISI 303
O-ring: NBR, Viton or EPDM

Back-up-ring: PTFE

Springs: Carbon Steel DIN 17233/84(B)

* Applications: Designed for Oil hydraulic Applications
Hammer Application

» Equivalence

GROMELLE 6000
TUTHILL 6000

MODEL STRUCTURE
Example:
=
203. 1 > Carbon ST 1 - Male 0 > Without 0 - Without DN 2 letters as per
2 9 A|S|316 2 9 Female 1 9 Poppet V 1 9 NBR 1> 06 Table of Threads
2 > Ball 2 - Viton
3>EPDM 2> % |10
3> %" |13
4-> % | 20
5>1 |25
6>17%"] 32
7>1%"] 40
8~>2" |50

2031 -

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8



SERIE 203
TGW CARBON STEE

STANDARD FEMALE MODELS
CH2 B CH1 L

STANDARD MALE MODELS
DN OA REF. ] CH C oF 2G L DN OA REF. @
1/4” 1/4”
BSP 203.11111AB BSP 203.12111AB
06 18" 950Bar 30 40 19.90 M27x1.5 80 06 187 950Bar 19 62.75 32 80
NPTF 203.11111BB NPTF 203.12111BB
I
& B
CH1
[ CHZ\
\ X

STANDARD FEMALE MODELS
L] CH2 B CH1 L

STANDARD MALE MODELS

2G L DN OA REF.

s/ CH ¢ @oF

DN @A REF.
3/8” 3/8”
BSP 203.11112AC BSP 203.12112AC
10 378" 750Bar 32 40.50 18.95 M30x1.5 81 10 378" 750Bar 22 67 36 81
NPTF 203.11112BC NPTF 203.12112BC

203-2 -
INTEVA

INTEVA reserves the right to make modifications in its products without prior notice.
Any external or internal alteration in our products will automatically void the warranty.




SERIE 203
TGW BON STEEL

L
e B
CH1
CHZ\
<
i =
STANDARD MALE MODELS STANDARD FEMALE MODELS
DN OA REF. @ CH C OF aG L DN A REF. @ CH2 B CH1 L
1/2” 1/4”
BSP 203.11113AD BSP 203.12113AD
13 1/2” 750Bar 38 49 19.90 M35x1.5 98 13 187 750Bar 27 76.20 41 98
NPTE 203.11113BD NPTE 203.12113BD

STANDARD MALE MODELS STANDARD FEMALE MODELS
DN OA REF. Ce CH C OF 2G L DN OA REF. @ CH2 B CH1 L
3/4” 3/4”
BSP 203.11114AE BSP 203.12114AE
20 3/4” 650Bar 50 56 28.95 M45x1.5 112 20 314" 650Bar 32 89.30 50 112
NPTE 203.11114BE NPTF 203.12114BE

203-3 -

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8



SERIE 203
T G W CABQ‘ STEEL

C i B
. ’— CH1
CH2
u| S
<
< s k=1
i<
¥
STANDARD MALE MODELS STANDARD FEMALE MODELS
DN OA REF. @ CH (o3 OF 2G L DN OA REF. & CH2 B CH1 L
BSP 203.11115AF B1$P 203.12115AF
25 4" 450Bar 60 68 36 M54x1.5 136 25 e 450Bar 41 1075 65 136
NPTE 203.11115BF NPTF 203.12115BF
DN32
L
C L B
< ;[
@ -
STANDARD MALE MODELS STANDARD FEMALE MODELS
DN OA REF. Ce CH C OF aG L DN OA REF. @ CH2 B CH1 L
11/4” 11/4”
BSP 203.11116AG BSP 203.12116AG
T 450Bar 75 85 49.80 M70x2 160 32 T 450Bar 55 130.50 80 160
NPTF 203.11116BG NPTF 203.12116BG

2034 -

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8



SERIE 203
TGW CARBON STEEL .,

DA

STANDARD MALE MODELS STANDARD FEMALE MODELS
DN OA REF. @ CH (o3 OF 2G L DN OA REF. & CH2 B CH1 L
1B1SI§’ 203.11117AH 1B1SII2’ 203.12117AH
40 11/2” 300Bar 60 93 55 M78x1.5176.5 40 112" 300Bar 60 143.50 85 176.5
NPTF 203.11117BH NPTF 203.12117BH
e L
e c . B
‘ CH1
CH2
<<
s
STANDARD MALE MODELS STANDARD FEMALE MODELS
DN OA REF. Ce CH C OF 2G L DN OA REF. @ CH2 B CH1 L
BSP 203.11118Al BZ’SP 203.12118Al
50 T 300Bar 70 128 69.40 M93x3 247 50 o 300Bar 70 203.50 105 247
NPTF 203.11118BI NPTF 203.12118BI

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8



203 SERIES

TGW CARBON STEEL

TECHNICAL DATA

Rated Flow Min Burst Pressure (bar) Max. Working Pressure
Male Female Coupled
06 18 I/m 1960 1960 1960 950 Bar
10 38 1/m 1500 1500 1500 750 Bar
13 62 I/m 1500 1500 1500 750 Bar
20 116 I/m 1300 1300 1300 650 Bar
25 194 I/m 900 900 900 450 Bar
32 290 I/m 900 900 900 450 Bar
40 450 I/m 600 600 600 300 Bar
50 630 I/m 600 600 600 300 Bar

Test performed according to ISO 18869

Ap (bar)
8

O B N W B U O N

0 20 40 60 80 100 120 140 160 I/m

Ap (bar)
8
7
6 - S
5 - V.
/.s.z
3 o5
NG 7/
9 // /
/A%
0 —_— L ‘ I

0 100 200 300 400 500 600 700 800 900 1000I/m

INTEVA reserves the right to make modifications in its products without prior notice. NTEVA
Any external or internal alteration in our products will automatically void the warranty.




SERIE 203
TGW Alsl 316

STANDARD FEMALE MODELS
CH2 B CH1 L

STANDARD MALE MODELS
DN OA REF. ] CH C oF 2G L DN OA REF. @
1/4” 1/4”
BSP 203.21111AB BSP 203.22111AB
06 18" 950Bar 30 40 19.90 M27x1.5 80 06 187 950Bar 19 62.75 32 80
NPTF 203.21111BB NPTF 203.22111BB
I
& B
CH1
[ CHZ\
\ X

STANDARD FEMALE MODELS
L] CH2 B CH1 L

STANDARD MALE MODELS

2G L DN OA REF.

s/ CH ¢ @oF

DN @A REF.
3/8” 3/8”
BSP 203.21112AC BSP 203.22112AC

10 378" 750Bar 32 40.50 18.95 M30x1.5 81 10 378" 750Bar 22 67 36 81
NPTF 203.21112BC NPTF 203.22112BC

203—7 -
INTEVA

INTEVA reserves the right to make modifications in its products without prior notice.
Any external or internal alteration in our products will automatically void the warranty.




SERIE 203
TGW Alsl 816

L
e B
CH1
CHZ\
1 <
] .@
i
STANDARD MALE MODELS STANDARD FEMALE MODELS
DN OA REF. @ CH C OF aG L DN A REF. @ CH2 B CH1 L
1/2” 1/4”
BSP 203.21113AD BSP 203.22113AD
13 1/2” 750Bar 38 49 19.90 M35x1.5 98 13 187 750Bar 27 76.20 41 98
NPTE 203.21113BD NPTE 203.22113BD

STANDARD MALE MODELS STANDARD FEMALE MODELS
DN @A REF. ] CH C ©OF ©G L DN @A REF. i/ CcH2 B
3/4” 3/4”
BSP 203.21114AE BSP 203.22114AE
20 347 650Bar 50 56 28.95 M45x1.5 112 20 34" 650Bar 32 89.30
NPTF 203.21114BE NPTF 203.22114BE

INTEVA reserves the right to make modifications in its products without prior notice.
Any external or internal alteration in our products will automatically void the warranty.

CH1 L

50 112

-
INTEVA



SERIE 203
TGW IS‘“I.16

C
CH
@
TR S
=
<
i<
¥
STANDARD MALE MODELS STANDARD FEMALE MODELS

DN OA REF. @ CH (o3 OF 2G L DN OA REF. & CH2 B CH1 L

BSP 203.21115AF B1$P 203.22115AF
25 e 450Bar 60 68 36 M54x1.5 136 25 e 450Bar 41 1075 65 136

NPTF 203.21115BF NPTF 203.22115BF

DN32

L
C L B
< ;[
@ -
STANDARD MALE MODELS STANDARD FEMALE MODELS

DN OA REF. Ce CH C OF 2G L DN OA REF. @ CH2 B CH1 L

1B1Sh|4’” 203.21116AG 1B1Sh|4: 203.22116AG

T 450Bar 75 85 49.80 M70x2 160 32 T 450Bar 55 130.50 80 160

NPTF 203.21116BG NPTF 203.22116BG

2039 -

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8



SERIE 203
TGW AISI 316

DA

STANDARD MALE MODELS STANDARD FEMALE MODELS
DN OA REF. @ CH (o3 OF 2G L DN OA REF. & CH2 B CH1 L
1B1SI§’ 203.21117AH 1B1SII2’ 203.22117AH
40 11/2” 300Bar 60 93 55 M78x1.5176.5 40 112" 300Bar 60 143.50 85 176.5
NPTF 203.21117BH NPTF 203.22117BH
e L
e c . B
‘ CH1
CH2
<<
s
STANDARD MALE MODELS STANDARD FEMALE MODELS
DN OA REF. Ce CH C OF 2G L DN OA REF. @ CH2 B CH1 L
BSP 203.21118Al BZ’SP 203.22118Al
50 T 300Bar 70 128 69.40 M93x3 247 50 o 300Bar 70 203.50 105 247
NPTF 203.21118BI NPTF 203.22118BI

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8



203 SERIES

TGW AlS| 316

TECHNICAL DATA

Rated Flow Min Burst Pressure (bar) Max. Working Pressure
Male Female Coupled
06 18 I/m 1960 1960 1960 950 Bar
10 38 1/m 1500 1500 1500 750 Bar
13 62 I/m 1500 1500 1500 750 Bar
20 116 I/m 1300 1300 1300 650 Bar
25 194 I/m 900 900 900 450 Bar
32 290 I/m 900 900 900 450 Bar
40 450 I/m 600 600 600 300 Bar
50 630 I/m 600 600 600 300 Bar

Test performed according to ISO 18869

Ap (bar)
8

O B N W B U O N

0 20 40 60 80 100 120 140 160 I/m

Ap (bar)
8
7
6 - S
5 - V.
/.s.z
3 o5
NG 7/
9 // /
/A%
0 —_— L ‘ I

0 100 200 300 400 500 600 700 800 900 1000I/m

CY—

INTEVA reserves the right to make modifications in its products without prior notice. NTEVA
Any external or internal alteration in our products will automatically void the warranty.




203 SERIES
TGW o

TGW SERIES PLUGS, CAPS and have been designed to protect FEMALE (coupler) or MALE (nipple)
parts while they are disconnected.

MODEL STRUCTURE Example:

203.6404 AA

203. 2> AISI316 St 3 > Plug 0 - Plain Metal DN AA
6 > Aluminium 4 > Cap 1> v | os
2>% |10
3> %" |13
4> % | 20
5>1" |25
6 >17%"| 32
7>1%"] 40
8->2" |50
PLUG
T
// s
4 o 06 203.6301AA M27x1.5 32 24.5
10 203.6302AA M30x1.5 35 26.5
13 203.6303AA M35x1.5 40 | 26.5 |
20 203.6304AA M45x1.5 50 32
25 203.6305AA M54x1.5 60 38
oA 32 203.6306AA M70x2 75 45
- 40 203.6307AA M78x2 84.5 47
50 203.6308AA M92x3 117 61
CAP
) 06 203.6401AA M27x1.5 32 40
10 203.6402AA M30x1.5 85] 43
13 203.6403AA M35x1.5 40 41
20 203.6404AA M45x1.5 50 52
25 203.6405AA M54x1.5 60 61
32 203.6406AA M70x2 75 80
40 203.6407AA M78x2 85 83
50 203.6408AA M92x3 102 116

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8




204 SERIES
AEV

Designed for Spanish market.
Poppet Valve closubg system.
BSP threads and other avaible upon request.

» Materials » Working temperature (O-ring)
Carbon Steel EN -10277-3

O-ring: NBR, Viton or EPDM

Springs: Carbon Steel DIN 17233/84(B)

* Applications: Designed for Oil hydraulic Applications

MODEL STRUCTURE
Example:

| series

O

204. 1> Carbon ST 1> Male 0 > Without 0 > Without DN 2 letters as per
2> Female  1->PoppetV. 1> NBR 35 1% | 13 Table of Threads
2 > Ball 2 > Viton
3> EPDM

2041 -

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8



204 SERIES
AEV

» L
B L_ B
CH2
E/C
]
w| O
< 8 ©
=
v
i
STANDARD MALE MODELS STANDARD FEMALE MODELS
DN ©A REF. EC CH2 B ©OF @D L DN OA REF. & EC B @D L
ii 12’,
13 ;ISZP 204.11113AD 400Bar 25 36 49.5 21.80 30.50 88 13 B/SP 204.12113AD 400Bar 27 69.5 33 88

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8



204 SERIES

AEV CAPS

MODEL STRUCTURE

Example:

204.1303 AA

/4 m Standard

204. 1-> Carbon St 4 > Cap 0 - Plain Metal DN AA
3>% |13
CH3 CAP
DN REF. CH3 L
\ 13 204.1303AA 36 20
Y i

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8




205 SERIES
STG SNk

Poppet valve closing system
BSP, NPTF, DIN2353, DIN3852, SAE/ORB and other threads upon request.
AISI 316 available only by minimum quantities.

» Materials » Working temperature (O-ring)
Carbon Steel EN -10277-3/ AISI 316L
O-ring: NBR, Viton or EPDM
Back-up-ring: PTFE

Springs: Carbon Steel DIN 17233/84(B)

* Applications: Designed for Qil hydraulic Applications
Hammer Application

» Equivalence
FASTER CVV

ARGUS HD
VOSWINKEL HS

MODEL STRUCTURE
Example:

205.12115 A

m/\\

m

205. 1 Carbon ST 1> Male 0 > Without 0 > Without DN 2 letters as per
2> AISI316 2> Female 1->PoppetV. 1> NBR 1> % |06 Table of Threads
2 - Ball 2 - Viton

3>EPDM 25 % |10

3> % |13

4> % | 20

5> 1" |25

6>1%"] 32

205-1 | -

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8




205 SERIES
STG

BSP /NPTF

DIN3852 / SAE

MALE

DN CH1 CH2 C

06 19 30 5950 34 94

10 22 36 61,10 34 98

13 27 41 67,30 41,80 112

STANDARD MODELS

V2" BSP

205.11111AB

FEMALE

205.12111AB

" NPTF

205.11111BB

205.12111BB

M14x1,5

205.11111NC

205.12111NC

10

2" BSP

205.11112AB

205.12112AB

%" BSP

205.11112AC

205.12112AC

%" NPTF

205.11112BC

205.12112BC

M16x1,5

205.11112ND

205.12112ND

@

450Bar

20 36 50 81 48 140

25 M 55 87,5 59,80 152

32 60 75 124 79,80 241,80

13

%" BSP

205.11113AC

205.12113AC

2" BSP

205.11113AD

205.12113AD

72" NPTF

205.11113BD

205.12113BD

M18x1,5

205.11113NE

205.12113NE

M22x1,5

205.11113NG

205.12113NG

%" -160RB

205.11113GF

205.12113GF

7" -140RB

205.11113GH

205.12113GH

20

%" BSP

205.11114AE

205.12114AE

% NPTF

205.11114BE

205.12114BE

M22x1,5

205.11114NG

205.12114NG

400Bar

CH1

FEMALE

DN CH1 CH2
06 19 24 60 Rd24x2 94

10 22 30 64 Rd28x2 98

13 27 36 73 Rd36x2 112

20 36 42 91 Rd42x2 140

25 41 50 100 Rd48x3 152

32 55 60 150 Rd70x3 241,80

25

%" BSP

205.11115AE

205.12115AE

1" BSP

205.11115AF

205.12115AF

1" NPTF

205.11115BF

205.12115BF

300Bar

32

1%" BSP

205.11116AG

205.12116AG

1 %" NPTF

205.11116BG

205.12116BG

1%" BSP

205.11116AH

205.12116AH

1% NPTF

205.11116BH

205.12116BH

410Bar

205-2

INTEVA reserves the right to make modifications in its products without prior notice.
Any external or internal alteration in our products will automatically void the warranty.

INTEVA



205 SERIES

ST BSP / NPTF
DIN3852 / SAE

TECHNICAL DATA

DN Rated Flow Min Burst Pressure (bar) Max. Working Pressure
Male Female Coupled
06 12 I/m 1580 1500 1800 500 Bar
10 32 1/m 1750 1680 1800 450 Bar
13 75 l/m 1580 1500 1600 400 Bar
20 145 I/m 1520 1400 1600 400 Bar
25 255 I/m 1200 1150 1200 350 Bar
32 440 I/m 1450 1520 1650 410 Bar
Test performed according to ISO 18869
Ap (bar)
5
4 - -
3 P

0 10 20 30 40 50 60 70 80 90 I/m

Ap (bar)

]

1 ///,

0 60 120 180 240 320 380 420 480 I/m

L) -

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8



205 SERIES
STG DIN2353

06 —y1X :g o 205111118 4soar 19 30 585 295 10 91,3
M18x1.5 120 205.41112JE
CH1 M14x1.5 8L 205.11112JC
M16x1.5 100 205.41112JD
10— oL 200011120 ss0Bar 22 36 621 34 12 9%
M18x1.5 108 205.11112KE
M20x1.5 125 205.41112KF
CH2 M14x1,5 8L 205 3JC
M16x1.5 0L 205.11113JD
M18x1.5 20 205.11113JE
O M22x1.5 5L 205.11113JG
13 T M26x15 8L 205.11113Jl  400Bar 27 41 6330 40,50 12 101
N M18x1.5 0S  205.11113KE
M20x1.5 25 20541113KF
M22x1.5 45 205.11113KG
M24x1.5 65 205 11113KH
M18x1.5 2L 205.11114JE o
] M22x1.5 5L 205.11114JG 72 12
M26x1.5 8L 205.11114J1 124
20 M30x2 220 2051111400 400Bar 36 41 78 48 18 136
M22x1.5 4S 205.11114KG
M24x1.5 65 205 11114KH 2 12 "9
M30x2 205 205.11114KJ 76 16 127
@D M26x1,5 18L___ 205.1111541 12
30x2 220 205.111150J 70,50 " 146
36x2 280 205.11115JK »
45x2 350 205.111150M 66,50 16 142
25 30x2 205 205.11115KkJ  00Bar 55 59.80
36x2 255 205.11115KK 7050 18 146
42x2 30S  205.11115KL 46 :
52x2 385 205.11115KN 55 20 150
42x2 30S  205.11116KL 50
32 4032 o 410Bar —oe— 75 143 7980 20 24380
STANDARD FEMALE MODELS
A2
]
06 2 :g L 205428 asoBar 19 24 50 Rd24x2 10 913
Bx15 120  205.12112JE
4x15 8L 205.12112JC
10 & :g L ZI2U20 . asoBar 22 24 63 Rd28x2 12 96
8x15 108 205.12112KE
20615 125 205.12112KF
4x15 8L 205.12113JC
Bx1.5 0L 205.12113JD
— 8x1,5 2L 205.12113JE
22x1.5 5L 205.12113JG
- 13 26x1.5 8L 205.12113J _ 400Bar 27 32 66 Rd36x2 12 101
18x1.5 0S  205.12113KE
20x1.5 25 205.12113KF
22x1.5 45 205.12113KG
24x1.5 65 205.12113KH
CH2 18x1.5 2L 205.12114JE
22x1.5 5L 205.12114JG 78 12 19
26x1.5 8L 205.12114J]
20 M30x2 220 205.12114JJ _ 400Bar 36 36 84 Rd42x2 18 131
M22x1.5 4S  205.12114KG 7 1 o
M24x1.5 65 205.12114KH
CH1 M30x2 205 205.12114KJ 82 16 127
== M26x1,5  18L  205.12115J] 91 12
M30x2 220 205.121150 97 146
M36x2 260 205.12115K » 97 18
M45x2 350 205.121150M 95 142
25 M30x2 205 205.12116KkJ _  o00Bar 41 Rd 48X3—7g
M36x2 255 205.12115KK 97 5 146
M42x2 30S  205.12115KL %
M52x2 385 205.12115KN 55 59 20 150
32 e S 410Bar —20— 60 151 R470x3 20 243,80

2054 -

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8



205 SERIES

STG DIN2353

STANDARD MALE MODELS
TA _
2T REF.
/s
g M12x1,5 6L  205.11111LB 9 735 24 1213
06 —\MMaxis 8L 205.4111iLc_ +%0Bar 19 30 7 8050 %5 T3 135.3
Mi4x15 8L 205.11112LC g 8150 34 15150
CH3 M16x15  10L 205.11112LD by 6520 26 12750
w 10 T MI6x15 85 20511112MD_ 450Bar 22 30 34
M18x1.5 105 205.11112ME 24 7520 27 13820
M20x1,5 125 205.11112MF 22
Midxi5 8L 205.11113LC 18 8550 3% 156,50
M16x1.5 10l 205.11113LD 22 86,50 3 157.50
CH1 Mi8x1,5  12L  20541113LE 24 75.50 24 13650
M22x1,5  15L  205.11113LG 27
13 T M26x15  18L 205.11113L|  400Bar 27 36 30 9650 41g0 38 157,50
M18x1.5 105 205.11113ME 24 75,50 24 13650
I3 M20x15 125 205.11113MF 22
CH2 M22x15  14S_205.11113MG 27 6,50 3 157,50
M24x15 165 205 11113MH 30
M18x15 12| 205.11114LE 24 86 26 157
M22x15  15L  205.11114LG 27
- go _M26x15  ABL 20511114LI_ 000 » a0 B 33 1
M30x2  22L  205.11114LJ 3% 94 34 o,
M24x1.5 16 205.11114MH 30 89 29
M30x2 205 205.11114MJ 36 9 36 163
M26x15 8L 205.11115LI 30 99,50 33 185,50
30x2  22L  205.11115LJ 3%
36x2 2L 205.11115LK 41 10050 34 18750
45x2 350 205.11115LM 55 102,50 3% 19150
25 30x2 205 205.11115MJ  oo0Bar 41 55 36 10150 208 ~35 18950
36x2 255 205.11115MK 41 10450 38 1060
42x2  30S_ 205.11115ML 50 10650 ” :
52x2 385 205.11115MN 65 : 189,50
@D 32 42x2  30S_ 205.11116ML___ 410Bar 50 75 50 143 0 284
DA ‘ STANDARD FEMALE MODELS
—— REF. @ CH1 EIC B
p——
p-
b 2x1,5 6L 205.12111LB 9 74 24 1213
5 06 axts 8L oosatiiLc 4%0Bar 19 24 Ty RA262 TR sss
4x15 8L 205.12112LC 19 8 34 151,50
x5 10 205.12112LD o 17 26 127.50
10 6x1,5 _ 8S  205.12112MD_  450Bar 22 24 Rd 28x2
8x1.5 108 205.12112ME 24 780 27 13820
M20x1,5 12 205.12112MF 22
CH2 Mi4xi,5 8L  205.12113LC 19 88 34 56,50
M16x1.5  10L 205.12113LD 22 89 35 57.50
Mi8xi.5  12L  205.12113LE 24 18 24 36.50
22x15 5L  205.12113LG 27
13 26x15  18L  205.12113L1  400Bar 27 32 30 99 Rdsexz o0 197,50
o 18x1.5 108 205.12113ME 24 18 24 136,50
2015 125 205.12113MF 22
H 22x1.5 145 205.12113MG 27 88 35 157,50
24x15 165 205.12113MH 30
i - 18x15 121 205.12114LE 24 92 26 157
CHA1 22x1,5 15L _ 205.12114LG 27 93 33 171
26x1.5  18L _ 205.12114LI 30
20 M30x2 22l 205.42114Ly  400Bar 36 36 —zg——gg— Rd422 — Py
4 M24x1,5 165 205.12114MH 30 100 29
- M30x2 205 205.12114MJ 3% 9 36 163
CH3 M26x1,5  18L _ 205.12115LI 30 112 33 185,50
M30x2 220 205.12115LJ 3%
M36x2  28L  205.12115LK a1 18 84 187,50
Mbx2 350  205.12115LM 55 5 3% 191,50
25 M30x2 205 205.12115MJ  oo0Bar 41 41 —g 4 RA4BS —5 18950
M36x2 258 205.12115MK 41 7 8 10000
& M42x2 308 205.12115ML 50 1 0 :
M52x2 385 205.12115MN 65 199,50
- 2 42x2  30S_205.12116ML _ 410Bar 50 60 50 _ 171 _RA70x3 40 284

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8



205 SERIES
STG ox

STG SERIES PLUGS, CAPS and have been designed to protect FEMALE (coupler) or MALE
(nipple) parts while they are disconnected.

MODEL STRUCTURE Example:

205.5414 AA

205. 2> AISI316 3 Plug 0 >Plain Metal DN AA

5 - Plastic 4 > Cap 1 >Red 1> | o6

2> % |10

3> % |13

4> % |20

5> 1 |25

6->1% | 32

rrrrrrrrr e STR PLUG

' L oo | 06 205.5311AA Rd 24x2 20 90
9 e 10 205.5312AA Rd 28x2 24 100
7 I\ O 13 205.5313AA Rd 36x2 29,50 135
=/ 20 205.5314AA Rd 42x2 37 187
. ] 25 205.5315AA Rd 48x3 41 145
32 205.5316AA Rd 70x3 55 200

CAP
e 06 205.5411AA Rd 24x2 20 90
N N 10 205.5412AA Rd 28x2 24 100
N R—, AN 13 205.5413AA Rd 36x2 29,50 135
b 20 205.5414AA Rd 42x2 37 187
L : ] 25 205.5415AA Rd 48x3 41 145
32 205.5416AA Rd 70x3 55 200

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8




206 SERIES
SRK DIN 2353

DIN2353 and other threads available upon request.
AISI 316 available but only for minimum quantities.

* Materials » Working temperature (O-ring)
Carbon Steel EN -10277-3/ AISI 316L
O-ring: NBR, Viton or EPDM
Back-up-ring: PTFE

Springs: Carbon Steel DIN 17233/84(B)

* Applications: Designed for Oil hydraulic Applications
Hammer Application

* Equivalence: Voswinkel Serie RH
Argus Serie RK

MODEL STRUCTURE
Example:

206.12115 A

m/\\

m

206. 1 Carbon ST 1> Male 0 > Without 0 > Without DN 2 letters as per
2> AISI316 2> Female 1->PoppetV. 1>NBR 454, |os Table of Threads
2 - Viton

3 > EPDM 2> % |10

3> % |13
4> % |20
5> 1" |25
6>1%"] 32

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8




206 SERIES
SRK

DIN2353

DN A
M14x1.5
M16x1.5
M18x1.5
M18x1.5
10

M20x1.5

M22x1.5

M22x1.5

M24x1.5

INTEVA reserves the right to make modifications in its products without prior notice.
Any external or internal alteration in our products will automatically void the warranty.

STANDARD MALE MODELS

@T  REF. CHICH2 C @D E L DN @A @T
8L 206.11112JC M14x1.5 8L
10L 206.11112JD M16x1.510L
12L 206.11112JE M18x1.5 12L
108 206.11112KE M18x1.510S

400Bar 41 32 67.5 38 29.5111.5 10

12S 206.11112KF M20x1.512S
15L 206.11112JG M22x1.515L
14S 206.11112KG M22x1.514S
16S 206.11112KH M24x1.516S

STANDARD FEMALE MODELS

REF. L] ©A2 @A3 CH2CH3 E B L
206.12112JC
206.12112JD
206.12112JE
206.12112KE

400Bar Rd 32x3 M30x1 36 36 3458 111.5
206.12112KF
206.12112JG
206.12112KG

206.12112KH

-
INTEVA



206 SERIES
SRK D|N235§

STANDARD MALE MODELS

@A

STANDARD FEMALE MODELS

DN ©GA O@T  REF. CHICH2 C @D E L DN QA @T REF. @GA2 OA3 CH2CH3 E B L
M18x1.5 12L 206.11113JE M18x1.512L 206.12113JE
M22x1.5 15L 206.11113JG M22x1.515L 206.12113JG
13 M22x1.5 14S206.11113KG 300Bar 46 41 70.4 44.8 31.4 127.5 13 M22x1.514S 206.12113KG 300Bar Rd 36x3 M36x1 41 41 38.566 127.5
M24x1.5 16S 206.11113KH M24x1.516S 206.12113KH
M26x1.5 18L 206.11113JI M26x1.518L 206.12113JI
-
INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8



206 SERIES
SRK DIN235€

| N\ ‘— N P

B}
= o< £
B 8 g
i
h;—
STANDARD MALE MODELS STANDARD FEMALE MODELS
DN @A ©@T REF. CHIEC C ©OD E L DN @A @OT REF. @A2 ©A3 CH2CH3 E B L
M26x1.5 18L 206.11114JI M26x1.518L 206.12114J1
M30x2 22L 206.11114JJ M30x2 22L 206.12114JJ
20 320Bar 60 32 82.9 58 27.4 140 20 320Bar Rd 48x3 M45x1.5 55 55 52 92 140
M30x2 20S 206.11114KJ M30x2 20S 206.12114KJ
M36x2  25S 206.11114KK M36x2 25S 206.12114KK

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8




206 SERIES

DA3

STANDARD MALE MODELS STANDARD FEMALE MODELS
DN GA OT REF. CH1EIC C @D E L DN GA OT REF. Ll A2 @GA3 CH2CH3 E B L
M30x2 22L 206.11115JJ M30x2 22L 206.12115JJ
M30x2 20S 206.11115KJ M30x220S 206.12115KJ

25 M36x2 28L 206.11115JK 300Bar 65 41 110.263.9 40.2 184 25 M36x228L 206.12115JK 300Bar Rd 54x4 M54x1.5 55 60 51.995.2 184

M36x2 25S 206.11115KK M36x225S 206.12115KK
M42x2 30S 206.11115KL M42x2 30S 206.12115KL
DN32
i
(e ; B

a £ ©
3 s s 9 5|8 s
¢ 3
STANDARD MALE MODELS STANDARD FEMALE MODELS

DN GA OT REF. CH1EIC C @D E L DN OA T REF. & OA2 OA3 CH2 OF E B L

M45x2 35L 206.11116JM M45x2 35L 206.12116JM
32 420Bar 80 55 135 89 39 223 32 420Bar Rd 79x4 M80x2 85 100 69 127 223

M52x2 38S 206.11116KN M52x2 38S 206.12116KN

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8



206 SERIES

S RK DIN2353

TECHNICAL DATA

Rated Flow Min Burst Pressure (bar) Max. Working Pressure
Male Female Coupled
10 29 I/m 1500 1580 1600 400 Bar
13 72 1/m 1200 1150 1200 300 Bar
20 135 1/m 1250 1300 1280 320 Bar
25 250 I/m 1200 1150 1200 300 Bar
32 430 I/m 1550 1600 1680 420 Bar

Test performed according to ISO 18869

Ap (bar)
5

0 60 120 180 240 320 380 420 480 I/m

206—7 -

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8



206 SERIES
SRK Io&

SRK SERIES PLUGS, CAPS and have been designed to protect FEMALE (coupler) or MALE
(nipple) parts while they are disconnected.

MODEL STRUCTURE Example:

206.6403 AA

206. 2> AISI316 3> Plug 0 - Plain Metal DN AA
6 > Aluminium 4 > Cap 2> % |10
3> %" |13
4> % |20
5> 1" |25
6->1%"] 32

g PLUG
f /Z 7 DN REF. oA B c L
- U / /:// ‘.-7\. 10  206.6302AA 32x3 39 25 31
/2 ‘ 13 206.6303AA 36x3 44,5 25 31
" i 20  206.6304AA 48x3 59 32 38
e i = 25  206.6305AA 54x4 64 39 45
r i . 32 206.6306AA 79x4 89,5 44 50

: CAP

i

- 10 206.6402AA 32x3 39 26 32
¥ 13 206.6403AA 36x3 445 24 30
ot 20 206.6404AA 48x3 59 34 40
25 206.6405AA 54x4 64 42 48
32 206.6406AA 79x4 89,5 74 80

2068 -

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8




207 SERIES

DIN3852 and other threads available upon request.
AISI 316 available but only for minimum quantities.

* Materials » Working temperature (O-ring)
Carbon Steel EN -10277-3/ AISI 316L
O-ring: NBR, Viton or EPDM
Back-up-ring: PTFE

Springs: Carbon Steel DIN 17233/84(B)

* Applications: Designed for Oil hydraulic Applications.
Hammer Application

* Equivalence: DNP vAV

MODEL STRUCTURE
Example:

e |

207. 1> Carbon ST 1> Male 0 > Without 0 > Without DN 2 letters as per
2 > AISI316 2> Female  1->PoppetV. 1 NBR 3> 1 |13 Table of Threads
2 - Viton
3 > EPDM 5> 1" |25

()

207-1 -

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8




207 SERIES

MALE

13

13

25

M22x1,5
2" BSP
M30x1,5

1" BSP

30

30

46

46

62

62

96

96

13 M22x1,56 27 41 46 22,25 Rd35x2 92 207.11113NG 400 Bar
Y 13 %'BSP 27 41 46 2225 Rd35x2 92 207.11113AD 400 Bar
B @ 25 M30x1,5 38 65 68 38 Rd54x3 134 207.11115NS 360 Bar
25 1"BSP 38 65 68 38 Rd54x3 134 207.11115AF 360 Bar
I
(W]
oOF
@D N
@D FEMALE

Rd 35x2

Rd 35x2

Rd 54x3

Rd 54x3

92

92

134

134

207.12113NG 400Bar
207.12113AD 400Bar
207.12115NS 360 Bar
207.12115AF 360 Bar

CH2

207-2

INTEVA reserves the right to make modifications in its products without prior notice.
Any external or internal alteration in our products will automatically void the warranty.

—
INTEVA




207 SERIES

CH1
CH2

@D

c
U T
L
STANDARD MALE MODELS STANDARD FEMALE MODELS
DN oA REF. &) CH1 E/IC oD B L DN oA REF. CH2 C oD L
13 M22x1.5 207.11113NG 400Bar 41 27 3;(:2 48 92 13 M22x1.5 207.12113NG 400Bar 30 62 3;?2 92

1/2” BSP DN13

CH1

< <
i=! =
B | Cc
L
STANDARD MALE MODELS STANDARD MALE MODELS
DN A REF. &) CH1 E/IC oD B L DN oA REF. CH2 C oD L
13 1/2” BSP 207.11113AD 400Bar 41 27 3;(:2 48 92 13 1/2” BSP 207.12113AD 400Bar 30 62 3;?2 92

207-3 -

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8



207 SERIES

M30x1.5 DN25

CH1

@D

MODELOS MACHO ESTANDAR

DN @A REF. =] CH1 EIC OF @D B
25 M30x1.5 207.11115NS 360Bar 65 38 38 5'::3 68

1” BSP DN25

c
MODELOS HEMBRA ESTANDAR
L DN OA REF. CH2 ¢ @b L
134 25 M30x1.5 207.12115NS 360Bar 46 96 5'::3 134

E/C CH1

@D
@D

DA

MODELOS MACHO ESTANDAR

DN @A REF. =] CH1 EIC ©OF oD B
25 1”BSP  207.11115AF 360Bar 65 38 38 "9 6
54x3

2074

INTEVA reserves the right to make modifications in its products without prior notice.
Any external or internal alteration in our products will automatically void the warranty.

134

MODELOS HEMBRA ESTANDAR

DN OA REF. CH2 ¢ @D L
25 17BSP 207.12115AF 360Bar 46 96 9 134
54x3

-
INTEVA



207 SERIES
CAT o

CAT SERIES PLUGS, CAPS and have been designed to protect FEMALE (coupler) or MALE
(nipple) parts while they are disconnected.

MODEL STRUCTURE Example:

207.6403 AA

Colour Standard

207. 2> AISI316 3> Plug 0 - Plain Metal DN AA
6 > Aluminium 4 - Cap 3> |13
5> 1" |25
I 775 PLUG
i ;
-
) ! 13 207.6303AA Rd 35x2 40 21 27
i1t | ¥ ‘ 25  207.6305AA  Rd54x3 60 8ite 435
i CAP
i
= U 13 207.6403AA Rd 35x2 40 21 27
| 4 25 207.6405AA Rd 54x3 60 29 35

207-3 -

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8




231 SERIES
VPR

Flat Valve which avoids fluid leakeages during the connection and disconnection.

* Materials » Working temperature (O-ring)
Carbon Steel EN -10277-3 / AISI 316L
O-ring: NBR. Viton or EPDM
Back-up-ring: PTFE

Balls: AISI 1010/1015
Springs: Carbon Steel DIN 17233/84(B)

* Applications: Designed for Qil hydraulic Applications.
Hammer Application

» Equivalence

Stucchi VEP

MODEL STRUCTURE
Example:

o KN K0

231. 1> Carbon ST 1> Male 1-> PoppetV. 1 - NBR DN 2 letters as per
2 > AISI316 2 > Female 3> CURP* 2~ Viton 0 > % 04 Table of Threads
8 > Carbon ST 3 > EPDM
NQ 1> W 6.3
2 5 % 10

3 > % 125

4 > % 16
5> 1 19
6 >1% | 25
7 >1%" | 30
8§ 22 45

* C.U.R.P. IS AVAILABLE IN MALE PART ONLY

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8




INTEVA reserves the right to make modifications in its products without prior notice.
Any external or internal alteration in our products will automatically void the warranty.

o N MALE | STANDARD MODELS |
DN oA MACHO HEMBRA
DNCHI B @A ©A2 OF L
- 04 A'BSP_ 23111110AA  231.12110AA .00
g‘; ;‘29 ;g é‘uggﬁ mggg Egg 19100 % NPTF___ 231.11110BA__ 231.12110BA
3 a y 1/m
EREL e E e e
12.5 36 85,25 ."BSP M40x3 24,50 155 34" BSP 231.11312AC  231.12112AC
. 15 21 ST 7L BSE Mo 7705 195 % NPTF___ 231.11312BC__ 231.12112BC
x3_30, % BSP____ 231.11312AD _ 231.12112AD
25 55 133 17 BSP M58x3 36,00 230 | 0 3, "NPTF  231.11312BD  231121128D
30 65 135 11’ BSP M80x4 57,00 255 %’ -160RB___ 231.11312GF__ 231.12112GF
. 45_90 220 2"BSP_M130x6 72,95 385 %-140RB___ 231.11312GH__ 231.12112GH
% BSP____ 231.11313AD__ 231.12113AD
v NPTF__ 231.11313BD__ 231.12113BD__ 550Bar
o5 %' BSP___ 23111313AE _ 231.12113AE
°T YU NPTF___ 231.11313BE__ 231.12113BE
% - 140RB__ 231.11313GH__ 231.12113GH
11/16" 120RB__ 231.11313GK__ 231.12113GK
o2 % BSP___ 23111314AE _ 231.12114AE
16 % NPTF___ 231.11314BE__ 231.12114BE
11/16-120RB__ 231.11314GK__ 231.12114GK
1"BSP 231.11315AF __ 231.12115AF
19— ©"NPTF____ 231.11315BF _ 231.12115BF _ 500Bar
15/16-120RB__231.11315G0__231.12115GO
o5 _ 1 Y0 BSP__ 231.11316AG _ 231.12116AG oo -
1% NPTF___ 231.11316BG__ 231.12116BG
20 17/ BSP_ 231.M1317AH _ 231.12117AH o
1% NPTF___ 231.11317BH__ 231.12117BH
45 2'BSP 231.11318Al___ 231.12118Al _350Bar
20 FEMALE
] DN C CH2 CH3 @A @B @D L
04 50 17 30 W BSP M20x2 295 90
_ 63 55 27 36 Y BSP M30x2 26,5 110
4 == 10 96 30 38  %BSP M33x2 37,50 129
|:€i'.' 125 109 41 46 % BSP_MA40x3 4550 155
Li/ 16116 41 50 % BSP_Md45x3 49,75 165
#I-,ﬁ 19 133 46 55 1"BSP_ M50x3 54,50 188
d . 25 159 55 65 1% BSP M58x3 64 230
l'TI 30 160 65 85 11 BSP M80x4 84 255
i, el 45 225 90 - 2"BSP_M130x6_ 149 385
7
=
CHZ LN

-
INTEVA



231 SERIES
VPR DIN2353

M12x1,5 6L 231.11111JB 55 12 106,2
63 M14x1,5 8L 231.11111Jc___ 000Bar 22 54 162 11 104,2
w % BSP M. v 231.11312AN 62,5 12 1244
M14x1,5 8L 231.11312JC 61,5 11 122,2
1 M16x1,5 10L 231.11312JD
10 M16x1,5 8S 231.11312kD 220Bar 30 625 1979 12 1244
CH1 N\ M18x1,5 10S___ 231.11312KE ' i
M20x1,5 125 231.11312KF
M14x1,5 8L 231.11313JC 73 11 134,9
M16x1,5 10L 231.11313JD
E M18x1,5 120 231.11313JE
M22x1,5 151 231.11313JG
o 12.5 M26x1,5 18L 231.11313Jl_ 550Bar 36 74 2458 12 136,9
M18x1,5 10S___ 231.11313KE
M20x1,5 125 231.11313KF
M22x1,5 145 231.11313KG
M24x1,5 165 231.11313KH
i M18x1,5 121 231.11314JE
M22x1,5 151 231.11314JG 74 12 139,5
M26x1,5 18L 231.11314J1
S — 16 M30x2 220 231.11314JJ_  550Bar 41 80 27,08 18 1515
M22x1,5 145 231.11314KG
w M24x1,5 165 231.11314KH 4 12 1395
_ 3/ M30x2 20S 231.11314KJ 80 18 1515
M26x1,5 18L 231.11315J1 82 12 152,2
M30x2 220 231.11315JJ 41 88 18 164,2
‘ M36x2 28L 231.11315JK a1 157,2
M45x2 350 231.11315JM 46 16 151,2
19 M30x2 20S 231.11315kJ_ 200Bar " " 30 1632
@F M36x2 255 231.11315KK 18 ’
M42x2 308 231.11315KL 46 &1 155,2
M52x2 385 231.11315KN 55 20 153,2

STANDARD MODELS (FEMALE)

M12x1,5 6L 231.12111JB 62 12 106,2
63 M14x1,5 8L 231.12111Jc___ 000Bar 2 63 275 11 104,2
% BSP M. v 231.12112AN 775 12 1244
M14x1,5 8L 231.12112JC 76,5 11 122,2
M16x1,5 10L 231.12112JD
10 M16x1,5 85 231.12112kD 2208 30 775 33 12 1244
g M18x1,5 10S__ 231.12112KE . *
M20x1,5 125 231.12112KF
M14x1,5 8L 231.12113JC 795 11 134.9
M16x1,5 10L 231.12113JD
M18x1,5 120 231.12113JE
M22x1,5 150 231.12113JG
125 M26x1,5 18L 231.12113J1 _ 550Bar 41 80,5 385 12 136,9
M18x1,5 10S___ 231.12113KE
M20x1,5 125 231.12113KF
M22x1,5 145 231.12113KG
M24x1,5 165 231.12113KH
M18x1,5 12l 231.12114JE
M22x1,5 15L 231.12114JG 83,1 12 139,5
M26x1,5 18L 231.12114J1
16 M30x2 22L 231.12114JJ_  550Bar 41 89,1 42 18 1515
M22x1,5 145 231.12114KG
M24x1,5 165 231.12114KH 831 12 139,5
M30x2 20S 231.12114KJ 89,1 18 1515
M26x1,5 18L 231.12115J1 92 12 152,2
M30x2 22L 231.12115JJ 08 18 164,2
M36x2 28L 231.12115JK 157,2
M45x2 350 231.12115JM 46 92 16 151,2
19 M30x2 20S 231.12115K) 200Bar % 30 1632
M36x2 255 231.12115KK 18 ’
M42x2 30S 231.12115KL %6 1552
M52x2 385 231.12115KN 55 94 20 153,2

231-3 -

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8



231 SERIES

VPR

TECHNICAL DATA Carbon Steel and Stainless Steel AlSI316

DN Flow Rate Min. Burst Pressure (Bar) Max. Working Pressure Spillage
Male Female Co:ple Male Female Coupled Max.
04 51/m 1500 1300 1500 600 430 600 0,011
6.3 251/m 1500 1260 1500 600 420 600 0,012
10 45 1/m 1400 1000 1400 550 330 550 0,040
12.5 90 I/m 1400 1000 1400 550 330 550 0,025
16 150 I/m 1400 1000 1400 550 330 550 0,033
19 200 I/m 1250 1000 1250 500 330 500 0,018
25 350 I/m 1200 800 1200 470 300 470 0,060
30 750 I/m 1100 800 1100 400 270 400 0,200
45 1000 I/m 1100 800 1100 350 270 350 0,350
Test performed according to ISO 18869
Ap (bar)
3
2 10

1

0
0 25 50 75 100 1251/m

Qp (bar)

3

16, -

2 19 /ﬁir

X / // /

; |

0 100 200 300 400 500 600 700 800 I/m

2314 | -

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8




231 SERIES
VPR &%

VPR 231SERIES PLUGS/ CAPS have been designed to protect FEMALE (coupler) or MALE
(nipple) parts while they are disconnected.

* Materials
Cuerpo: aluminum/AISI 316L

MODEL STRUCTURE
Example:
231. 1-> Carbon ST 1 > Male 1> PoppetV. 1> NBR DN 2 letters as per
2 > AISI316 2 > Female 2 - Viton 0 > % 04 Table of Threads
8 > Carbon ST 3 > EPDM
NQ 1 > W 6.3
2 5> % 10

4 > | 16
5 > 1 19
6 >1% | 25
7 >1% | 30
8§ >2 45

231-5 | -

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8




PLUG
04  231.6300AA  M20x2 25 28 34
6.3  231.6301AA  M30x2 35 30 36
A g 10 231.6302AA  M33x2 38 32 38
125  231.6303AA  M40x3 46 35 41
16 231.6304AA  M45x3 50 39 45
19 231.6305AA  M50x3 55 50 56
oA 25  231.6306AA  MS58x3 65 55 61
o 30 231.6307AA  M8Ox4 90 65 71
45  231.6308AA  M130x6 145 85 91
CAP
;ﬁ 04  231.6400AA  M20x2 25 34 40
6.3  231.6401AA  M30x2 35 45 61
]7 10 231.6402AA  M33x2 38 50 56
< 125  231.6403AA  M40x3 46 52 58
16 231.6404AA  M45x3 50 55 61
19 231.6405AA  MS50x3 55 65 71
25  231.6406AA  M58x3 65 65 71
5 30 231.6407AA  M8Ox4 90 80 86
“ 45  231.6408AA  M130x6 145 130 136

231-6

INTEVA reserves the right to make modifications in its products without prior notice.
Any external or internal alteration in our products will automatically void the warranty.

-
INTEVA



METRIC THREADS ISO 261
FINAL CONECTION

DIN 3852-1 B /1SO 9974-3 ISO 6149-2 (ORB) 1ISO 9974-2 (E) / DIN3852-11
THREAD FEMALE MALE THREAD FEMALE MALE THREAD FEMALE MALE
M8x1 NA PA M8x1 EA OA M8x1 NA QA
M10x1 NB PB M10x1 EC oC M10x1 NB QB
M12x1,5 NC PC M12x1,5 EE OE M12x1,5 NC QC
M14x1,5 ND PD M14x1,5 EF OF M14x1,5 ND QD
M16x1,5 NE PE M16x1,5 EG oG M16x1,5 NE QE
M18x1,5 NF PF M18x1,5 EH OH M18x1,5 NF QF
M20x1,5 NG PG M20x1,5 EK OK M20x1,5 NG QG
M22x1,5 NH PH M22x1,5 EM oM M22x1,5 NH QH
M24x1.5 NI Pl M27x2 = = M26x1,5 NO QO

M26x1,5 NO PO M30X2 EJ 0oJ M27x2 = -
M27x2 - - M33x2 EQ 0oQ M30X2 NJ QJ
M30X2 NJ PJ M42x2 ET oT M33x2 NK QK
M33x2 NK PK M48x2 EU ou M42x2 NL QL
M42x2 NL PL MB0x2 EV oV M48x2 NM QM

M48x2 NM PM

ISO 8434-1 / DIN3861 | ISO 8434-1 Bulkhead / DIN3861 |
e ——

M12x1,5 6L JB M16x1,5 8S KD M12x1,5 6L LB M16x1,5 8S MD
M14x1,5 8L JC M18x1,5 10S KE M14x1,5 8L LC M18x1,5 10S ME
M16x1,5 10L JD M20x1,5 12S KF M16x1,5 10L LD M20x1,5 12S MF
M18x1,5 12L JE M22x1,5 14S KG M18x1,5 12L LE M22x1,5 14S MG
M22x1,5 15L JG M24x1,5 16S KH M22x1,5 15L LG M24x1,5 16S MH
M26x1,5 18L JI M30x2 20S KJ M26x1,5 18L LI M30x2 20S MJ
M30x2 22L JJ M36x2 25S KK M30x2 22L LJ M36x2 25S MK
M36x2 28L JK M42x2 30S KL M36x2 28L LK M42x2 30S ML
M45x2 35L JM M52x2 38S KN M45x2 35L LM M52x2 38S MN
M52x2 42L JN

—— 24= -

INTEVA reserves the right to make modifications in its products without prior notice. INTEVA
Any external or internal alteration in our products will automatically void the warranty. v8

I



UNIFIED STEP THREADS ASME B1.1

FINAL CONECTION

SAE 37° (JIC) / J514 1SO

SAE 37° (JIC) / J514 1SO

SAE J1926 / ISO 11926

8434-2 8434-2(Bulkhead) (ORB)
THREAD FEMALE MALE

THREAD FEMALE MALE THREAD FEMALE MALE SAE J1926-1 SAE J1926-2
3/8” -24UNF UA YA 3/8” -24UNF - YAP 3/8” 24UNF GA HA
7/16"-20UNF UB YB 7/16"-20UNF - YBP 7/16”-20UNF GB HB
¥2" - 20UNF uc YC 2" - 20UNF YCP 2" - 20UNF GC HC
9/16"-18UNF ubD YD 9/16"-18UNF - YDP 9/16”-18UNF GD HD
11/16”-16UN UE YE 11/16”-16UN - YEP 11/16”-16UN GE HE
¥"-16UNF UF YF ¥"-16UNF - YFP ¥a"-16UNF GF HF
13/16”-16UN UG YG 13/16”-16UN - YGP 13/16”-16UN GG HG
7/8"-14UNF UH YH 7/8"-14UNF - YHP 7/8"-14UNF GH HH
11/16"-12UN UK YK 11/16”-12UN - YKP 1.1/16"-12UN GK HK
1.3/16"-12UN UM YM 1.3/16”-12UN - YMP 1.3/16”-12UN GM HM
15/16"-12UN uo YO 15/16”-12UN - YOP 15/16™-12UN GO HO
17/16"-12UN uQ YQ 17/16”-12UN - YQP 17/16"-12UN GQ HQ
15/8"-12UN uT YT 1 5/8"-12UN - YTP 1 5/8"-12UN GT HT
111/16™-12UN uu YU 111/16"™-12UN - YUP 111/16™-12UN GU HU
1 7/8"-12UN uv YV 17/8-12UN - YVP 1 7/8"-12UN GV HV

K
. ; '

LN

A
%

SAEJ1453 / ISO 8434-3 (ORFS)

SAEJ1453 / ISO 8434-3 (ORFS Bulkhead)

THREAD FEMALE MALE
9/16"-18UNF VD ZD
11/16”-16UN VE ZE
13/16”-16UN VG ZG

1”-14UNS VI ZI
1.3/16”-12UN VM ZM
15/16”-12UN VO Z0
17/16”-12UN vQ ZQ
111/16"™-12UN VU ZU

THREAD FEMALE MALE
3/8” -24UNF - ZAP
7/16"-20UNF - ZBP
V2" - 20UNF - ZCP
9/16"-18UNF - ZDP
11/16”-16UN - ZEP

¥4"-16UNF - ZFP
13/16”-16UN - ZGP
7/8”-14UNF - ZHP
1" — 16UNS - ZIP
11/16”-12UN - ZKP
1.3/16”-12UN - ZMP
1 5/16”-12UN - ZOP
17/16”-12UN - ZQP
15/8"-12UN - ZTP
1 11/16”-12UN - ZUP

17/8"-12UN Z\/P

INTEVA reserves the right to make modifications in its products without prior notice.
Any external or internal alteration in our products will automatically void the warranty.

LACALS
v Mo e

-
INTEVA



CONICAL THREADS

| NPTF ASME B1.20.3 | BSPT: ISO 7/1 / DIN 3852-2, TIPO C

BK
«Q
\\
| i

THREAD FEMALE MALE THREAD FEMALE MALE
v’ BA BL Ve DA DL
Y24 BB BM Zs DB DM
¥s” BC BN %" DC DN
s BD BO Z3 DD DO
¥a" BE BP 4 DE DP
1” BF BQ 1” DF DQ

1% BG BR 1% DG DR
1% BH BS 1% DH DS
2’ Bl BT 2’ DI DT
2% BJ BU
3" BY

THREAD BSP ISO 228/1

FINAL CONECTION

| BSPP / BS5200 | BSPP Bulkhead SPECIALS
THREAD FEMALE MALE THREAD
Yo" AA AL A CL KFA M20x1,5 @13,5
2 AB AM v CM KFB M20x1,5 Cone 60°
%" AC AN 3" CN HFA ¥4"-16M. Without 37°
v AD AO 1 co JDA M16x1,5 Bulkhead M20x1,5
2 AE AP % CcP GFA %4"-16UNF cylinder
1” AF AQ 1 cQ JGA M22x1,5 Prolonged
1% AG AR 1 CR JGB M22x1,5 15L Long. Hex 35mm
1% AH AS 'RV cs LGA M22 Bulkhead Prolonged
2" Al AT 7
2" AJ AU 2 T
THREAD FEMALE MALE
3" AK AV
3/8” -24UNF VA ZA
7/16”-20UNF VB ZB
A 5" - 20UNF VC ZC
o %"-16UNF VF ZF
7/8"-14UNF VH ZH
1" — 16UNS VI Zl
1 1/16”-12UN VK ZK
1 5/8”-12UN VT ZT
17/8’-12UN VV zv
099 .

INTEVA reserves the right to make modifications in its products without prior notice.
Any external or internal alteration in our products will automatically void the warranty.

INTEVA



v8



o’ :
/’ P
: v INTEVA
5: & Q "ﬂ www.inieva.es

C/ Bergueda n° 14-16 P.I. Can Bernadés Subira
08130 Santa Perpétua de la Mogoda
BARCELONA (SPAIN)

Tel / Phone +34 93 560 79 43

Fax +34 93 574 30 94




